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Today we will 7”va learn 775 97 of mn2’ noon
The topics we will learn about include.

Four groups of women whose gligibility to their husbands ‘F our g roups Of women
and the Yavam varies in four different ways. Wh ose ell gl bl llty t o)

their husbands and the Yavam
varies in four different ways

91095 RWINS MW 1IN R
The prohibitions of marrying 0,09 does not apply to a
77WwI NInd

We Wil‘yl also make a brief introduction n]ﬂ’u’: 11nt1 n RI’
An mnHR, a widow, is disqualified to marry a Kohen
Gadol, but she is permitted to marry a Kohen Hedyot. D’b'IDDb an nb

However, if she illegitimately married a Kohen Gadol,

she becomes a 7>5n through Biyah, and if he dies, she is The prohibition ofmarrying D'5po
now disqualified to marry a Kohen Hedyot. i i b
But if she only received Kiddushin from a Kohen Gadol, on y QPP lestoa )’—)3 - but not toanin>

then she is not a 755, and if he dies, she is permitted to
. marry a Kohen Hedyot.

A 155m 55m, are the children of a 9w> 70 who illegiti-
mately married a 7355 79109, one of those forbidden to nthD I,I’n nJDI’N
him - for example, a 7w, a divorcee.

no%m

A 55mis not considered a j13, and he may marry a mwia
o5m.

A no5nis disqualified to marry a vw> j2

However, a 55n is permitted to marry a nywa 7o 3,
because,

21095 RWIAY MPWI 1IN KD

The prohibition of marrying o109 only applies to a j1>
but not to a nid.

However, if 77w3 i3, or a YX7w’ n3, married a 55m,
although the marriage is legitimate, she becomes a 1551
through Biyah, and she becomes disqualified to marry a
w3 172, But if she only received Kidushin from the 55m,
she does not become a n55m, and she is permitted to marry
a7wa .

A Mamgzeres, is disqualified to marry a 7w2 5xw, but she
is permitted to marry a Mamzer.

A 10y pwRr I3, a first and second generation 31 7, are
512 X215 ©'9109, they may not marry into Klal Yisroel.
They can only marry one who is also 51pa x25 H10s.

Hpvyever a wow 73w, a third generation 731 73, becomes ’J\D] ]1\’-’&1 ’-IXD
eligible to 5np, He may not marry a 5rpa 825 5109, only
MY M¥D

one who is eligible to 51p.

' A n), who is considered a n7°w), is permitted to marry
both, a w3 and a 109, This is because

5P PR RS 03 SR

o™ are not included in the prohibition of marrying a %109 .
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So let's review

Zogt Di Mishna

The Mishna lists four categories of women whose
eligibility to their husbands and the Yavam vary in four
different ways.

The first category;

55 v

TPP5 NMON

There are women who are permitted to their husbands, but
forbidden to his brother, the Yavam.

The Mishnah gives four examples:

- ] -

FINOR DR RWIW OYT 1719

D173 70 IR D W7

A Kohen Hedyot who married a nanbx, a widow - which is
Rinite)

But his brother, the Yavam, was a Kohen Gadol - to
whom she’s "OR

-2-

77w ROUIW 55N

MWONR D WY

A 55m 370 married a nwa. Although this marriage is 90,
she becomes a 1155n. Therefore, she’s 770K to his brother,
the Yavam, who is a 7w> 3.

-3-

SRIW’ N2 RWIV SR’

WP AR D VN

A Yisroel who married a Bas Yisroel - clearly 7mn» - But
his brother, the Yavam, is a Mamzer - clearly :7ox

-4-

ONHH RWIW 7D

SR AR D WM

A Mamzer married a Mamzeres - 7m» - But his brother,
the Yavam, is a 7w 5w’ - therefore, MoOR

In all these instances

TS MoR) HYab mamn

She is permitted to her husband, but she is forbidden to the
Yavam.

DafHachaim.org
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. The second category;
7525 NN Rh M i,‘[’}::") lakminhial 2
There are women who are permitted to the Yavam, but )
forbidden to their husbands In ‘717:.7 apli=h)
The Mishna gives four examples: 2TON 5N VTN 1o 597 "o
_]_
MR WM AORA DR OTPW 973 170 RWIW ROV w5 OTPW
A Kohen Gadol gave Kidushin to an Almanah - which is 5870 N2 natnn ROV NINORN NX
“1or. However, she did not become a 755n, because it was NMRHYY NRPH VYN noon PRV
only Kiddushin. Therefore, she is 9m» to his brother, the HRIY? *NN NR 1Y VN NX

Yavam, who is a Kohen Hedyot. 550

_Z_

1551 RWIW WD 0PI

55m MR D W

A w3 vrT 7 married a n55n - obviously TOR - And his
brother, the Yavam, is a 55m 173, who is n55na wmn

_3_

NP RVIV ORI’

NP ARD WY

A Yisroel married a Mamzeres - certainly 710K -

And his brother, the Yavam, is a Mamzer - to whom she’s
anmn

o -

ORIV AR 1Y W1 ORI N2 RWIW NHOD
A Mamzer married a Bas Yisroel - which is 970K - And his
brother, the Yavam, is a Yisroel -to whom she’s amn»

In all these instances

155 mmoR b I

She is permitted to the Yavam, but forbidden to her
husband.
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The third category;

1OR9) 15RS

There are women who are permitted to both, their
husbands and the Yavam.

The Mishnah does not give examples. This is a standard
case of Yibum with no issues.

The fourth category;

1R 15RS MMOR)

There are women who are disqualified to both, their
husbands and the Yavam.

The Mishna gives four examples:

- ] -

D173 179 IR 15 W MInORA DR RWIW 91733710

A 9173170 married an Almanah - which is mox - And his
brother, the Yavam, is also a Kohen Gadol - also 770X

_2_

W AR 1D W 5N RWIW VYT

A w> VT2 married a 755n - obviously TOK - And his
brother, the Yavam, is also a 7w> vy77 175 - also Mor

_3_

SR AR 1D W 0N RO SR

A Yisroel married a Mamzeres - which is 770R - And his
brother, the Yavam, is also a Yisroel - also 770R

-4-

NP AR D WY HRIW’ N2 RVIV RO

A Mamzer married a Bas Yisroel - which is 770R - And
his brother the Yavam, is also a Mamzer - also 717oR

In all these instances
PR HRS MTOR
She is disqualified to both, her husband and the Yavam.

TP 150 MAamn owin 5 IRw)
As mentioned earlier, most women are permitted to both
their husband and the Yavam.

The Gemara points out that other 05109 such as 3w 31,
or 837 1135 could have been illustrated in the four catego-
ries of the Mishnah. However,

W RIN

Not all relevant instances were listed.
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The Gemara continues:

23 IMR AT 2T IVR

5005 RWIAS MPWI 1IN RS

The prohibition of marrying 0509 applies only to a j7>
7w, but does not apply to a 777w> nid.

The Gemara asks from a Braisa

The Pasuk states

MR RS O5M At WK

MR RS TTORND W TR

Why are the words mp> K> repeated?

WRT T Y DANN AURIW THON

To teach that women are included in the prohibition of the
men -

Apparently, P51095 RwIA> MW 19N, a NN is also
prohibited to marry a Posul?

R17 answers

I RITT RO

DATIm R

The Pasuk only establishes that the X5 of the w3 j73 also
applies to the n5109, the illegitimate woman. For example,
if a 9w> 7> married a 7wy, they have both transgressed
the x>

I RS RITT RN

RITTHIO RO RO

However, where there is no X5 for the man, there is
likewise no x5 for the woman. For example, a 55m 110
may marry a 77vwI nind, because, since there is no w5 for
the 55m, there is likewise no R85 for the 175 na.

29 AN ATV 29 9N

Mo0EY R M T 8D

The prohibition of marrying D'5)DD
applies only to a W2 )nJ,
but does not apply toa NYWD NIND

2

[
Enrad

iz X5 Slorm i

e " Nb mm mmg m
rmm v by A N b

/Wo/wéa‘e/ o marry a Posul

k=) N1 55
I N5 NS I NI

FHowever, The Pasuk onl%/
where there i establishes that
no //://ar the man,  the //:ﬁ% the »0> /P>
there iy likewise none  alio applies o the

/or the woman oo
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The Gemara asks

RPOI 27 IR AT 2T RM

The Halachah of

I N7 I RIT KA 9 is already derived from the
Pasuk

RITA WO THWRI N DR TIROM 530 W00 TR IR WK

A man or woman, who committed a sin, is liable for
punishment.

7IN2w PwnY 55 WRS AWR 1IN0 MY

This teaches that a woman is equivalent to a man regard-
ing all 11X, all negative commandments that are punish-
able.

So we see that nanmn X0 97 Xin? Why do we need the
second mp> R5?

The Gemara answers that we might say that the Pasuk of
TR IR WR only refers to a

592 MW IRG

AnIssur that is applicable to everyone, but it does not
refer to

932 MW IPRWY XD

For example, the prohibitions of the 03715, which do not
apply to a Yisroel. Therefore, we need the Pasuk of np> XY
to teach that even with a %71 mw pRw RS, we say

W RINT R

NI RN
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The Gemara asks from the Pasuk

PPYIRPY RY WIS OPHR MR IR 32 073797 OR DR
Inform the Kohanim, the sons of Aaron that they are
prohibited to be nnb KLY,

The added words 177X *32 teach;

IR 132 R 1R 32

The Issur of 5 8pLw applies only to a 73, not to a N3d.

Based on what would we otherwise think that it does
apply to a nino?

Apparently, the Pasuk nwr R wR also refers to 10Rw 18>
551 MW, such as the Issur of N5 RpLVN?

The Gemara answers

N5

MR RO 17T

Since 1 R teaches that the Issur of 735 7109 applies to
an nwR, even though it's a 532 mw 1wRW 185, we would think
that the Issur of nn5 RO also applies to an TwR. There-
fore, we need 77X "12 teach that a 170 na is exempt from the
Issur.

MIORT RIR

The Gemara gives another answer to the original
question.

The Pasuk 7R R v indeed refers even to mw 11Rw RS
551. And the reason we need 11’ K> is, because,

ARV WP RPHOR T'0

We might think that since 1378 M1 X 778 712 teaches that
the Issur of N5 LM does not apply to an TR, the Issur
of 1125 109 also does not apply to an wR. Therefore,

79 RIIOXR AP

We need inp> K> to teach that it does apply to the nwx, and
nnb RO is an exception to this Halachah,

This discussion continues in the next Daf
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Just like the Issur of DD RDLD
does not apply to an NWN,

the Issur ofJ2> NDIDD also
does not apply to an NWN

5)'/,40'7@5&' 200
Hebrm =i N
mp» N’:
=N mimy SN
m;v N’a

It does apply to the NWN,
and that DD RHLD
is an exception
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